Trig Test Reteach

Finding the smallest positive asymptote (Question 3)
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Finding the exact value of a trig function (Questions 6-9)
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Verify Identities (Questions 14-15)

11.  cos*x — sin*x = c0322x " 12. tan®xcos®x + cot?xsin®x = 1
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Find all solutions of the equation -- general and on the interval [0,21t) (Questions 20-21)

15. tan?3x + tan3x = 0

16. sin2x —cosx =0

17. 4c032£— 3=0

tonBx (TN oX +1):0) aginkosk-sx=0 | oocay 3
a [tBx=D 2K Aogsx (agivx -1) =0 sk
B ='fL
A Jor32) = ¢
O TEx=T
=38P
E}L %0 18. csc?x — cscx — 2 = 0 19. sin5+ cosx =0 20 sec?x — 2tanx = 4
1% 7 7 - - G- 1
(6 e i-t)mo | L 0 | bl o e
j;\ - . ‘(_ cos) | #+an’K - Lran X- (=0
A= %‘;T-m‘rﬂ 765%(&171\\ e =Dk (Ao + | Yan —3)
PO T R e = frann = - 4an = 3%
[X=537+7,1rr [~ 0S4 =708 = S
L b 19 wsa+sa—t =0 6*“‘*’7"(’0531.
\ ..‘\CD
(205 1 YE5+ 1) S
(o5 = —7: s =1 oS

5

x L0STN

AR+ 1A

ZW . S
}(:'W‘r’ﬁ“\/\,\ >\< ¥



